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Time walk correction for non-trigger bar
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Time vs. 1/VFADC channel for trigger bar(top)

The same method but not work. Graph
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FADC channel Integral cut

need all 6 PMTs satisfy the cut
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Time resolution of single PMT readout(

Graph

*2 / ndf

0.008945 / 5

- 0.2
= po ~0.00188 + 0.005332
i - p1 1.538 = 1.242 0.15
.25 —
= =
= - 0.1
2 1.2 Ty
2 F =
=115 s 05
L] = B e — —
Rz = e |
o 1 T | ﬂ? ©
e - T peb
D1.05— tO+t34t2+t5 ; ©0.05
D = _ SIgma :
.=‘_E=, B Y — 'tl 8 g
P - 1 fh —0.1
Sossf~ - Fitting: Y=p0*X+p[l
= —0.15
0.9
jl' 1 1 | L1 1 1 I 1 L1 1 | 1 L1 1 I 1 L1 1 I 1 1 L1 I 1 1 L1 I L1 1 1 I |- —0_2
215 220 225 230 235 240 245 250
hit position along SPD in GEM coordinate{mm)
— th2f
%40—_ Entries 2791 ) %
= ~ Mean x 232.9 =)
a - Mean y 250.4 %50
T320
'-E — RMS x 10.91 5
g.aoo:— RMSy 22.16
= = 200
étzao_— —{20
= :
FOm
%40: a™ | s 150
S _ |
(=1
220 - — 10 100
- -
SR200—
< I
—180— . ey S 50
= F Hit position on SPD
=N | | | | | | |
200 210 220 230 240 250 260 270 280 °

hit position along SPD in GEM coordinate{mm)

Graph

wide side, ri

ight

)

-------- r

| B I | i 1

1 IIIiII

by

21

5

220

225

230

235

240

245

250

hit position along SPD in GEM coordinate{mm)
f 4

Time resolution
after correction

PN N TR T NN SN SN N M M RN A

PMean

RMS

FMean

Entries

%2 ndt
Constant
—D.0O7343 = 0.003384

Sigma

—0.0os2

O 1841

47.95 /7 33

253.7 x 6.1

0172 x 0.003

PR N N A TR T S S N W WY N

N

—-1.5

—1

1

B

1.5

2

N




hit position pegpendiculay in GEM coordinate(mm)

Time resolytion of single PMT readout(narrow side, left)

time difference distribution(ns)
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Narrow side(near) add Y direction cut(from 8cm to 4cm)
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Narrow side(near) consider hit distance to PMT(8cm
cut data) craer
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The distance between PMT window and
first dynode which is about 3cmis
considered in calculation, and the time
resolution result is just a little better.



Parallel test setup

PMT4 \ 1 PMT1
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Time resolution of single PMT readout(wide side)
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Time walk for PMTs
at trigger PMT side

Since the incidence angle of comic ray is
small, so the time distribution is narrow.
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time from TDC(ns)
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Raw histogram of hit position vs. time difference

left: 8cm cutin vy direction
right: 4cm cutin vy direction
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